@ &

General Use Industrial

FLOATING BALL

3 PIECE )
N

-




/2"-27" | DN8-DN65 | CLASS 900

Floating Ball 3 Piece

Valve dimensions

_ H
D
C =G
-
Il [l i P
Sl
[}
|
I
Preparation
B for actuation
A
o
oW ® HABONIM )“’ WL 172
L without nut  with nut
M 2" Stem flats
< show valve
ball position
TxL thread ~N thread
FPCD

Valve Face To Face sizes are according to Habonim catalog data only, for Extended-weald/Flanged/Tri-clamp end see Face To Face sizes page.

Full port| Unit :::'t Al B . c D H|s|w M| N P F L V:’(Z'/QI’L“ g’
mm | 11.15 6600 2060 2900 37.90 6150 15000 47.00 554 665 (F03) | 36.00 060 26
inch | 044 260 081 114 149 242 591 185 022 ' M 026 1ag X0 T 5 5,
mm | 11.15 6600 2060 2900 37.90 615015000 47.00 554 665 (F03) | 36.00 060 69
inch | 044 260 081 114 149 242 591 185 022 ' M 026 1ag MO T35 g
mm | 1430 7060 2450 3140 4030 639015000 5370 554 665 (F03) | 36.00 080 10
inch 056 278 097 124 159 252 591 211 022 N 026 1ag MRS
mm | 2060 9370 3170 3810 5560 794018700 6370 7.54 740 (FO4) | 42.00 160 28
inch 081 369 125 150 219 313 736 251 030 "™ 029 165 MK S5 3
mm | 2540 10800 4130 4270 6020 84.10/18700 7170 754 740 (FO4) | 42.00 250 49
inch | 100 425 162 168 237 331 736 282 030 "™ 029 o A Y
mm | 3180 11550 4840 4360 73.00 97.00237.00 8670 871| . 850/ (FO5) | 50.00 360 69
inch | 125 455| 191| 172 287 382 933 341 034 "N [ 033 107 M2 06 a0
mm 3810 12800 5630 4830 77.80 101.80237.00 9690 871 850| (FO5) | 50.00 450 102
inch 150 504 222 190 306 401 933 382 034 UV 033 197 MEK12 05 g
mm | 5080 15800 7260 70.00 8810 1151023700 10800 871/ 1350/ (FO7) | 70.00 950 208
inch | 200 622 286 276 347 453 933 425 034 UV 083 276 12T 51000 241

300 | (EDHABONIM | GENERAL USE & INDUSTRIAL




/2"-27" | DN8-DN65 | CLASS 900

Floating Ball 3 Piece

Components & materials

Item | Description Material specification Item | Description Material specification

1 2%" (DN65) size maximum pressure rating is Class 400.

Body Acc. Ordering Code 1 1108 Slide bearing S. Steel 1
Ends Acc. Ordering Code 2 Disc spring S. Steel 2
Ball Acc. Ordering Code 1 Stem nut S. Steel 1
Stem Acc. Ordering Code 1 Locking clip S. Steel 1
Seat Acc. Ordering Code 2 Handle S. Steel 1
Inner seal PTFE 2 Serrated washer | S. Steel 1
Outer seal Acc. Ordering Code 2 Handle nut S. Steel 1
Stem thrust seal | VIRGIN PEEK, PCTFE 1 Sleeve PVC 1
Anti-abrasion ring | VIRGIN PEEK, PCTFE 1 Body bolt S. Steel 8
Stop pin S. Steel 1 Anti-static spring | S. Steel 1
Stem seal CF PTFE, TFM 1 Anti-static plunger |S. Steel 1
Follower S. Steel 1 Tag (not shown)  |A167S. Steel304 1

¥ Repair kit components

GENERAL USE & INDUSTRIAL | (BDHABONIM | 301




47

Floating Ball 3 Piece

Valve dimensions
|

3"-6" | DN50-DN150 | CLASS 400

oW m}{«»ﬁ

TxL thread
FPCD

S
Y
D
C
' 41 R -+ o Ball port
N— —
1
=S | BH=
B
A
7 N
)

Preparation
for actuation

RN

Stem groove
shows valve
ball position -

N thread -

Square

Valve Face To Face sizes are according to Habonim catalog data only, for Extended-weald/Flanged/Tri-clamp end see Face To Face sizes page.

Std. | Full Weight

port | port Txk kg/gljb
DNEIDN R mm | 63.50/169.000 83.30| 98.30/144.90185.00/400.00/140.00) 1890/ 1590/ 1'-14 | 16.70| (F10) 102.00 M10x20 13.70/ 300
3" 21" inch 250 665 328 387 571 729 1575 550 074 063 UNS-2A | 066 4.02 3030 348
DN mm | 82.60/214.00108.80/114.10/160.70200.00/600.00/177.00) 1890/ 1590/ 1'-14 | 16.70| (F10) 102.00 M10x20 2370/ 615
4" 3" inch 325 843 428 449 633 789 2362 697 074 063 UNS-2A | 066 4.02 5240/ 713
DI mm 100.00239.00/123.00124.00/170.50/1211.00/600.00217.00/ 1890 1590/ 1"-14 | 16.70 (F10) 102.00 M10x20 3000/ 744
4" inch | 394 941 484 488 671 830 2362 854 074 063 UNS2A | 066 4.02 66.30 863
DN150 mm 111.10/346.00/146.00/157.00/226.00/286.00/916.00 266.00| 2845 23.75| 115"-12 | 26.20 (F12) 125.00 M17x20 63.00 872
6" inch = 437 1362 575 618 890 1126 3606 1047 112 094 UNF2A ' 103 492 13890/ 1012

302 | KDHABOMM | GENERAL USE & INDUSTRIAL




ZyA 3'-6" | DN50-DN150 | CLASS 400

Floating Ball 3 Piece

Components & materials

6A

Item | Description Material specification Qty.

Body Acc. Ordering Code

Ends Acc. Ordering Code

Ball Acc. Ordering Code

Stem Acc. Ordering Code

Seat Acc. Ordering Code

Inner seal PTFE

Outer seal Acc. Ordering Code

Support ring S. Steel

Stem thrust seal

VIRGIN PEEK, PCTFE (KEL-F)

Anti-abrasion ring

VIRGIN PEEK, PCTFE (KEL-F)

11082 Slide bearing

Stop pin S. Steel
Stem seal CF PTFE, TFM
Follower S. Steel

S. Steel

[ N [P B N I NS T S T NS T RS R NG S

S. Steel

ST

Material specification

2

S. Steel 1

S. Steel 1

S. Steel 1

S. Steel 1

Wrench head S. Steel 1

Wrench bolt S. Steel 1

Sleeve PVC 1
Body bolts S. Steel 16-24

Anti-static spring | S. Steel 2

Anti-static plunger|S. Steel 2

Tag (not shown) |S. Steel 1

¥ Repair kit components

GENERAL USE & INDUSTRIAL | (EDHABONIM | 303




Face To Face Sizes

A-XBW A-ETO A-Flanged A-TC
Valve Size
Std. port Full port Std. port Full port Std. port Std. port Full port Full port
DN10 mm 20.6 20.6 1406 1430 108.6
" inch 08 08 55 56 43
DN15 mm 20.6 24.6 140.6 147.0 137.0 140.0 152.0 888
" inch 08 1.0 55 58 54 55 6.0 35
DN20 mm 24.6 31.7 1470 1687 1470 152.0 165.1 1016
34" inch 1.0 1.2 58 6.6 58 6.0 65 40
DN25 mm 31.7 413 168.7 1793 164.1 165.1 178.1 1143
1" inch 1.2 16 6.6 7.1 65 65 70 45
DN32 mm 413 484 1793 1894 1793 178.1 190.0
1%" inch 16 19 7.1 75 7.1 70 75
DN40 mm 484 56.3 1894 2003 184.0 190.0 216.1 1398
1%" inch 19 22 75 79 72 75 85 55
DN50 mm 56.3 726 2003 2326 1935 216.1 2410 158.9
2" inch 22 29 79 92 76 85 95 63
DN65 mm 726 834 2326 2834 2226 2410 2820 2130
2-%" inch 29 33 92 11.2 838 95 11.1 84
DN80 mm 834 108.8 2834 34838 2504 2820 2820 2158
3" inch 33 43 11.2 13.7 99 11.1 11.1 85
DN100 mm 108.8 1230 34838 3900 34838 305.0 305.0 2454
4" inch 43 48 13.7 154 13.7 120 120 9.7
DN200 mm 146.1 180.0 4441 180.0 4441 403.1 403.0 146.1
6" inch 58 7.1 17.5 7.1 17.5 15.9 15.9 58
XBW /ETO Flanged TC
o
iR —
g f—gg—f L FEallport - B BallPort
R K
5
A

Valve
Center Section
Valve

Center Section

|

|

Valve
Center Section
I | I

|

Sy

9%

|
i
L
.

>

p:

>

304 | (EDHABONIM | GENERAL USE & INDUSTRIAL




pla| 2'-8" | DN50-DN200 | ANSI 600

Floating Ball 3 Piece

Valve dimensions

Optional hybrid seat
U-shape

————— 2 Ball port

1

]

| Preparation
B for actuation
A

| A

(]

oWh-———o—— - — - —_ b HABONIM )
_ Stem groove
shows valve

ball position

TxL thread

FPCD Square

Std. port | Unit :::It (I:\F) (RI'.\rJ) B X vﬁ;‘ﬁgt

DN50 mm  51.00292.10/292.15/ 7500 87.50 134.00 17445 401.00165.10/ 1890/ 1590 114 |16.70 22.70| (F10) | 102.00 M10x12 14200 430
2" inch 201 1150 1162 295 344 528 687 1579 650 074 063 UNS2A | 066 089 4.02 3130/ 499
DN80 mm  80.00 3556035865 110.00 126,50 195.901 256.60 916.00/ 209.55| 2845/ 23.75 11412 12620 3520] (F12) | 125.00 M12x16 37.001 1000
3" inch| 315 1400 14.12 433 498/ 771/ 1010 3606 825 112 094 UNF-2A | 103 139 492 8160/ 1160
DL mm  100.00/431.80(434.85135.00/ 14240 211,901 273.00/916.00 273.05| 2845/ 23.75| 11412 12620 3520] (F12) | 125.00 M12x18 5800/ 1830
4" inch| 394 1700 1712, 531 561/ 834 1075 3606 1075 112 094 UNF-2A | 103 139 492 12800 2123
DIRETES mm  150.00/558.80/561.85/190.00/ 194.00/307.00) - - 135560 3592/ 3592| "8 4000 46.50 (F14) | 140.00 M16x18 126,00/ 4380
6" inch| 591 2200 2212 748/ 764 1209 - - 14000 141 141 UN-2A | 157 183 551 27800 5081
DI\PLES mm  200.00 6604066345/ 275.00] 2450040000, - - 141910 4590 4590/ 234" 50005500 (F16) | 165.00 M08 31400/ 8070
8" inch| 787 2600 2612 1083 965 1575 - - 1650/ 181 181 UN-2A | 197 217 6.50 69220 9361

' Due to high valve torque, pipe handle cannot be used. A manual gear or automation means should be used to operate the valve.

306 | KDHABOMM | GENERAL USE & INDUSTRIAL




pla| 2'-8" | DN50-DN200 | ANSI 600

Floating Ball 3 Piece

Components & materials

Item | Description Material specification Qty.
Body Acc. Ordering Code 1
Ends Acc. Ordering Code 2
Ball Acc. Ordering Code 1
Stem Acc. Ordering Code 1
Seat insert Acc. Ordering Code 2
Seat housing S. Steel 2
Seat seal Graphite, PTFE 2
Inner seal Graphite, PTFE 2
Stem thrust seal | PEEK, CF PEEK, PCTFE 1
Anti-abrasion ring | PEEK, CF PEEK, PCTFE 1
Stop pin S. Steel 1
Stem seal CF PTFE, TFM 1
Follower S. Steel 1

10,88 Slide bearing S. Steel 1

ST

16 14B 17

Preparation
for actuation

Item | Description Material specification

S. Steel 2
S. Steel 1
S. Steel 1
1
1
1
1

S. Steel
S. Steel
Wrench head S. Steel
Wrench bolt S. Steel
Sleeve PVC 1
Body bolts S. Steel 20-24-32
Anti-static spring | S. Steel 2
Anti-static plunger|S. Steel 2
Tag (not shown) |S. Steel 1

¥ Repair kit components
** Gear operator should be used for size 6" DN150 and above (handle components are
not included)

GENERAL USE & INDUSTRIAL | (EDHABONIM | 307




Floating Ball 3 Piece - Ordering Code System

SEnl

"Mandatory option" options are marked with [gréenbackground! | "Standard offer" options are marked with light green background

—

Size (1-2)

Code inch

02

03 B

05 W8 15
07 EA 20
10 QBK 25
12 B4 32
15  RZ8 40
20 W& 50
25 WpiZ% 65
[ 3" 80
40 K3 100
[ 6" 150

Features (3-6)

Fire safe

Full port

Oxygen service
Ammonia service
Chlorine service
Vacuum service
Cavity filler seats

—“0<R=ZTOwmm

High purity Class 10000
Series (7-8)

Design (9)
Total HermetiX Integrity
package
Total HermetiX Integrity
package - FDA
compliant

Body material (11)

S. SteelCF8M/CF3M
C. steel
Hasteloy-C22
254SMO

Duplex

Low Temp C. steel
Bronze

Super Duplex
Monel

Alloy-20
Hasteloy-C276

N>NX=v0ownsiso

308 | B

9 10 1N 12 13 14 15 16 17
IWI—|6 L6 [[elle][al[ T ][ &
) . Lv_} N
Design Body Ends | Ball/Stem |l Seat [ InnerSeal | Outer Seal
material |l material l material M material |l material material

Ends material (12)

S. SteelCF8M/CF3M
C. steel
Hasteloy-C22
254SMO

Duplex

Low Temp C. steel
Bronze

Super Duplex
Monel
Alloy-20
Hasteloy-C276

Ball material (13)

S. SteelCF8M/CF3M
Hasteloy-C22
254SMO
Duplex

Bronze

Super Duplex
Monel
Alloy-20
Hasteloy-C276

Stem material (14)

S. Steel316L
High Strength S. Steel
Inconel 718 B637
Alloy-C22 B574
254SMO A479
Alloy-20 A351 CN7M
Duplex A479

Super Duplex A479
Monel
Hasteloy-C276

Seat material (15)

TFM
CF PTFE
CF PEEK
Virgin Peek
UHMWPE
PCTFE
Delrin
PVDF

PTFE

Inner Seal Material (16)

PTFE

Expanded graphite
UHMWPE

Viton

NBR

N>NX=v0ownsiso

N»NXxX-=0gwvso

NNxo>»wnsNZ

s <nNncr XxX7v9>»

Expanded graphite
TFM

End Connection (19-22)

Welded

Buttweld schd. 10

Buttweld schd. 40

Socket weld

Extended buttweld schd. 10

Extended buttweld schd. 40

Extended socket weld

Buttweld schd. 5

Buttweld schd. 80

Buttweld tube OD

Buttweld DIN 11850

buttweld ISO

Socket weld tube OD

Extended tube OD

Extended buttweld ISO

NPT

Extended buttweld DIN
Threaded

ASME B1.20.1 -
National Pipe Taper thread

BSPT

EN 10226 - Pipe Taper thread

BSPP

1SO228-1, DIN3852 -
Pipe Parallel thread

DIN3852

DIN3852 - Pipe Parallel thread

AS5202

SAE internal straight thread

MNPT

Male NPT

MBSPT

150

Male BSPT

ASME B16.5 #150 RF

300

ASME B16.5 #300 RF

600

ASME B16.5 #600 RF

900

ASME B16.5 #900 RF

PN16

EN1092 PN16 RF

PN40

EN1092 PN40 RF

PN64

EN1092 PN64 RF

PN100

EN1092 PN100 RF

PN160

EN1092 PN160 RF

Compression fitting (Imperial) -
No Nuts & Ferrules

Compression fitting (metric) -
No Nuts & Ferrules

Compression fitting (Imperial) -
with Nuts & Ferrules

Compression fitting (metric) -
with Nuts & Ferrules

Tri-Clamp

Grayloc© compatible hub
(Grayloc®© is a registered
trademark of Grayloc Products,
LLC)

HABONIM | GENERAL USE & INDUSTRIAL

18 19 20 21

) Ew0Y- DDDD

22 23 24

End

Specnal
features

Special Features (24-30)

Ball with Upstream Relief
Hole

connection

Self Relief Seat

Body made from barstock

Electropolished

Jacketed valve - number
of ports (2), type (NPT)
and size (14")

Valve Special Stem Seals
FDA Compliant, Stem seal,
Virgin Peek thrust and TFM,
X shape, gasket

High Cycle service
Hydrogen




(| T
& i
Floating Ball 3 Piece - Ordering Code System

"Mandatory option" options are marked with [gréenbackground| | "Standard offer" options are marked with light green background

12 13 14 15 16 17 1819 20 21 222324 . . 30
sl el [ T e 1/BIWOICT- OO
- / - J

F
- . T

1T 2 3 4 5 6 7 8 9 10
Lel[o] [I[I[FI[e] [2][6] [w ] -
— —

BE

Size Features Series [ Design Body/Ends Ball/Stem Seat Inner Seal Outer Seal End Special
material material material il material material connection features

Hybrid Seats (24-27)

Size (1-2)
Code inch

Body/Ends material (11-12)
S. Steel CF8M
C. steel A216 WCB/A105
C. steel A352 LCB

End Connection (19-22)

Welded
Extended buttweld schd. 40
Extended buttweld schd. 80
Flanged
ASME B16.5 #600 RF
EN1092 PN64 RF
EN1092 PN100 RF

Insert material

Upstream/Downstream

Stem material (14)

S. Steel316L .
High Strength S. Steel Special Features (24-30)

Inconel 718 B637 RTJ Ring Type Joint
Ball with Upstream Relief
Hole

Features (3-6)
Fire safe

Insert Shape

Seal Type
U+Viton

Clean assembly for
02 service

Seat material (15)

Ammonia service Valve Special Stem Seals L+PTFE ‘
Chlorine service High Cycle service U+NBR ‘
Series (7-8) Outer Seal Material (17) FDA Compliant, Stem seal, U+Low Temp. NBR ‘
Expanded graphite Virgin Peek thrust and TFM, X L+Graphite |

PTFE shape, gasket

26
Design (9)
w

Lifting Device

The 26 Series is equipped with a lifting device to ease installation.

The maximum allowable load is indicated in the below table. Detail B

Std. port | Unit | Weight

DN50
on
DN80
3"
DN100
4"
DN150
6"
DN200 5800
8" 12787

GENERAL USE & INDUSTRIAL | (EDHABONIM | 309




